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Я принял её за итальянку, а его – за шведа.
I mistook her for Italian and him for Swede
‘I mistook her for Italian and I mistook him for Swede’



●  R1, R2 pronounced elements of the gapped clause, which have correlates 

●  cR1, cR2 parallel elements in the full clause similar to the remnants, both semantically and syntactically

● V possible position of missing material 

● cV main predicate in the full clause

Мы [cV вернем] [cR1Вашим шинам] [cR2былую хватку],   а [R1Вам] [V] [R2безопасность на дороге]!

We will.return your tires former grip and     you safety on road

We will return former grip to you tires and return you safety on the road’



Gapping in  AGRR corpus
Broader interpretation



Stripping vs. Gapping with one remnant

Stripping:

The man stole the car after midnight, but not the diamonds. [Merchant  2016]

Abby can speak passable Dutch, and Ben, too. [Wurmbrand 2013]

Все мы любим Мамбу и Сережа тоже.

All we love Mamba and Serezha too

‘All of us love Mamba, and Serezha loves it too’



Stripping vs. Gapping with one remnant

Gapping with one remnant:
[cV Добавляем] [cR1 муку, крахмал и разрыхлитель], а в конце [V] [R1 сметану].

       add          flour starch and baking.powder and at.the.end       sour.cream

‘We add flour, starch and baking powder, and at the end we add sour cream.’

Рост цен [cV составил] [cR1 11,9%] (за 2009 год [V] [R1 4,4%]).

growth prices amounted.to 11.9% in 2009 year 4.4%

‘The price growth amounted to 11.9 %(in 2009  it amounted to 4.4 %)’



Gapping in subordinate clauses

[cR1 Он] [cV знает] [cR2 ее], как [R1 живописец] [R2 свою картину].

        he       knows        her as       painter         his painting

‘He knows her as painter knows his work’



Different types of remnants

● predicates 

● preposition phrases



Different types of remnants

● adverbs 

● adjectives



Obtaining the data



Obtaining the data
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Assessment analysis

0 1 2 3
0 1533 138 129 136
1 240 5301 1021 237
2 213 451 1600 281
3 307 177 117 108



Assessment analysis

0 1 2 3
0 1817 232 174 118
1 154 1900 142 46
2 75 130 360 21
3 139 53 36 25



Validation of the corpus

How well does it represent the 
phenomenon?



Validation of the corpus
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What does the AGRR corpus miss? (cat. 2)
● more than two remnants

● the order of remnants differs from the order of correlates



What does the AGRR corpus miss? (cat. 2)
● The gap is controlled not by a verb, but by a noun

● The correlate is higher syntactically than the elided predicate



What does the AGRR corpus miss? (cat. 2)

● Gapping “with generalization”



What the AGRR corpus does not include? (cat. 3)

● ellipsis in comparative constructions

● stripping



What the AGRR corpus does not include? (cat. 3)

● sluicing

● additional argument in elided clause



Category 3
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Shared Task Set-Up





● for every sentence, participating systems 
must decide if there is a gapping construction in it.

●  precision, recall and f-measure 

●

●



Gap resolution

● for every sentence with gapping, 
participating systems must predict the position of the 
elided predicate and the pronounced predicate in the 
antecedent clause.

●  symbolwise f-measure

●



Full annotation

● for every sentence with gapping, 
participating systems must predict the linear position of 
the elided predicate and positions of its remnants in the 
clause with the gap, as well as the positions of remnant 
correlates and pronounced predicate in the antecedent 
clause.

●  symbolwise f-measure

●



Full annotation

● for every sentence with gapping, 
participating systems must predict the linear position of 
the elided predicate and positions of its remnants in the 
clause with the gap, as well as the positions of remnant 
correlates and pronounced predicate in the antecedent 
clause.

●  symbolwise f-measure

●



Symbolwise f-measure example

● Утопающий чтобы спасатель мог подтянуть
его к судну должен взяться за петлю руками а в
идеальном варианте продеть петлю себе
подмышки

●

●

●

●



SynTagRus results compared to AGRR test



SynTagRus results by class



Track organization

●

●

●

●



AGRR Data



Closed Track:
● 9 teams -  5 universities, 2 IT-companies, 2 independent 

researchers
Open Track:
● 0 participants

Closed track:
● Should universal pretrained models be allowed?

Deadlines:
● Some participants were late!

Questions



Results

team binary
gap 

resolution full
precision recall f-measure f-measure f-measure

fit_predict 0.969 0.95 0.959 0.905 0.892
EXO 0.899 0.964 0.931 0.815 0.786
Koziev Ilya 0.774 0.903 0.834 0.677 0.647
Derise 0.801 0.906 0.850 0.665 0.622
Meanotek 0.891 0.781 0.832 0.635 0.514

МГУ-DeepPavlov 0.934 0.644 0.762 0.601 0.587
vlad 0.778 0.915 0.841 0.574
MorphoBabushka 0.763 0.619 0.683 0.466 0.440
nsu-ai 0.485 0.123 0.196 0.037 0.036



Late Submissions

team

results

binary gap resolution full

precision recall f-measure f-measure f-measure

МГУ-DeepPavlov 0.973 0.646 0.776 0.617 0.599

МГУ-DeepPavlov 0.898 0.934 0.916

МГУ-DeepPavlov 0.97 0.712 0.821 0.658 0.653

EXO 0.946 0.946 0.946 0.859 0.836



Results

team binary
gap 

resolution full
precision recall f-measure f-measure f-measure

fit_predict 0.969 0.95 0.959 0.905 0.892
EXO 0.899 0.964 0.931 0.815 0.786
Koziev Ilya 0.774 0.903 0.834 0.677 0.647
Derise 0.801 0.906 0.850 0.665 0.622
Meanotek 0.891 0.781 0.832 0.635 0.514

МГУ-DeepPavlov 0.934 0.644 0.762 0.601 0.587
vlad 0.778 0.915 0.841 0.574
MorphoBabushka 0.763 0.619 0.683 0.466 0.440
nsu-ai 0.485 0.123 0.196 0.037 0.036



github.com/dialogue-evaluation/AGRR-2019


